There are 20 children in the class. 14 are having school dinner. He
many children are not having a school dinner?

| swam 10 lengths at the pool. My friend swam 9. How many more

lengths did | swim than him? %

| am 16. My brother is 3 years younger than me. How old is my broth-

er?
=

| buy some sweets for 5p. | pay with a 20p. How much change do |

get?

| have 20m of ribbon. | need 30m. How much more ribbon do | need

to buy? @2

| had 20 marbles and now only have 6. How many did | lose?

My book cost 20p and my friend’s cost 11p. How much cheaper

was his book than mine?

Out of 25 children in the class. 6 are ill. How many children are not
ill?




There are 30 children in the class. 14 are having school dinner.
How many children are not having a school dinner?

| swam 20 lengths at the pool. My friend swam 9. How many
more lengths did | swim than him?

| am 26. My brother is 3 years younger than me. How old is my
?
brother? g’

| buy some sweets for 5p. | pay with a 50p. How much change do
| get?

| have 10m of ribbon. | need 40cm. How much more ribbon do |

need to buy? @2

| had 30 marbles and now only have 6. How many did | lose?

My book cost 30p and my friend’s cost 11p. How much cheaper
was his book than mine?

Out of 35 children in the class. 6 are ill. How many children are
not ill?




There are 40 children in the class. 14 are having school dinner.
How many children are not having a school dinner?

| swam 30 lengths at the pool. My friend swam 9. How many
more lengths did | swim than him?

| am 23. My brother is 3 years younger than me. How old is my
?
brother? g’

| buy some sweets for 5p. | pay with a 50p. How much change do
| get?

| have 10m of ribbon. | need 50cm. How much more ribbon do |

need to buy? @2

| had 40 marbles and now only have 6. How many did | lose?

My book cost 40p and my friend’s cost 11p. How much cheaper
was his book than mine?

Out of 35 children in the class. 6 are ill. How many children are
not ill?




